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1.

Do not open the booklet unless you are

asked to do so.

The booklet
Examinee is required to answer any 50
OMR Answer-Sheet
provided and not in the question booklet. If

contains 60 questions.

questions in the
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then the first attempted 50
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student,
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(Only for Rough Work)



1. RN 9 yrd SHeN B e B 1. Information the receiver gets is called :

(A) W™ (A) Message
(B) 3mscyc (B) Output
(C) gTYc (C) Input
(D) ¥ (D) Source
2. Tl $ folU TSR & : 2. Reward for the entrepreneurs is :
(A) o™ (A) Profit
(B) gl (B) Wage
(C) da (C) Salary
(D) e H | DS el (D) None of the above
3. T el g & | T is an equilibrium point.
(A) Tdeee-fdg (A) Break-even
(B) U (B) Ratio
(C) g yare (C) Fund flow
(D) “Thal Yare (D) Cash flow
4. TQM &I ¥dald © 4.  TQM stands for ...........
(A) Ticd q@rferdl 741 (A) Total Quality Money
(B) Ticd dq@iferc! Heivfie (B) Total Quality Management
(C) Ticd qarferc A (C) Total Quality Meal
(D) SUYa H A Bl 7l (D) None of the above
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5. ‘HOR’ U& B SN 88 T -

(A) fed 9T 9
(B) e W |
(C) /9 AT |
(D) URY 9T A

6. STHI T TP T :
(A) o]
(B) wfdd
(C) fobar A
(D) STda # & Big AL
7. U SEMl B e
(A) IR B
G IGEIRIES!
(C) TREH T8 &R B &wa
(D) SHIE T
8. PMEGP & MRl @ & ?
(A) IfeTd el

(B) H®IM

(C) YU HErIdl IR
(D) ST W

AG-4007 (4)

Word  ‘communication” has  been

originated from language :
(A) Latin

(B) Greek

(C) Roman

(D) Paris

Entrepreneurs is a/an :
(A) Object
(B) Person
(C) Process of action

(D) None of the above

Qualities of a successful entrepreneur :

(A) Communication skills
(B) Flexibility
(C) Risk bearing

(D) All of the above

Who are the beneficiaries of PMEGP ?

(A) Individual entrepreneur

(B) Institutions

(C) SHGs

(D) All of the above

Set-A



9.

10.

11.

12.

IR W Wi Afeddl @ @B
fereryerrant / crerot § feTar dEemdl ©

(A) Erifthel (FRT)
(B) WA

(C) weifthell (fawr)
(D) fawasirman

TAR @1 Hifas €
(A) THI

B
(C) =l (A) 3R (B)

(D) SWE ¥ | FIg el

AR & AR TS SeM B forg
frfoRad # & a9-91 9@ © ?

(A) YA DI I ATTRIDHAT

(B) U Bl 71+ rmaggarar

(C) UidR &I I=d ATITIDBT

(D) IR &I ¥ 3azadar

NIESBUD fRerd % :
(A) HITer H

(B) oGS H

(C) WITRI H

(D) 3T #

AG-4007

10.

11.

12.

The degree to which individuals involved

in communication differ in cartain

characteristics :

(A) Homophily

(B) Empathy

(C) Heterophily

(D) Credibility

Physical barriers to communication are :
(A) Time

(B) Distance

(C) Both (A) and (B)

(D) None of the above

According to McClelland which of the

following is true for an entrepreneur ?

(A) High need for achievement
(B) Low need for achievement
(C) High need for power

(D) Low need for power

NIESBUD is situated at :
(A) Noida

(B) Lucknow

(C) Prayagaraj

(D) Agra

Set-A



13. TOR & Bl © ¢ 13.

(A) I HRAT
(B) I
(C) 3T FAT

(D) SWH # | B &l

(D) SHIE W

15. SWOT & #ded @ , BAGINI, Hidr 15,

3R G |
(A) B
(B) Tder
(C) Hoigd
(D) SUYa H A Bl 7l

AG-4007 (6)

The art of communication is :

(A) Learning

(B) Listening

(C) Feeling

(D) None of the above

............. entrepreneurs  follow

traditional method of production.

(A) Drone

(B) Fabian

(C) Innovative

(D) All of the above

the

SWOT stands for ............ ., weakness,

opportunity and threat.

(A) Small

(B) Strength

(C) Strong

(D) None of the above

Set-A



16. ‘TcOR’ ¥ ‘Ui’ ¥ form mam 2

forgent & @

(A) T

(B) fofy o

(C) T

(D) SWE & W B &l
17. ¥R T :

(A) AT Hfshar

B) femril gfpar

(C) Fmrft gfshan

(D) IATIT fsha

18. I H Ugell IR [’ I

T TN foa |
(A) fEe 3N
(B) Rare v

(C) SING YHieR
(D) I IR

AG-4007
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16.

17.

18.

Term ‘entrepreneur’ has been derived

from word ‘entreprendre’ which mean :

(A) To undertake

(B) To decide

(C) Togive

(D) None of the above

Communication is a :

(A) One-way process

(B) Two-way process

(C) Three-way process

(D) Four-way process

............. first time wused the

‘entrepreneur’ in business.

(A) Robert Owen

(B) Richard Cantillon

(C) Joseph Schumpeter

(D) Max Weber

term

Set-A



19.

20.

21.

‘Intrapreneur’ (SFTUTH) ¥& [hdh G
e rar ?

(A) 3R DA

(B) IR 3NaH

©) e fmare

(D) . gAfeR

U4, U, U, §. 9 siafaE o feban
T

(A) 2002 H

(B) 2003 H

(C) 2006 H

(D) 2008 H

W # ae Td el 1 gate e
T

(A) IR ¥ AP B3R

(B) I A SR B 3R

(C) =M (A) IR (B)

(D) SUYa H A Pl el

AG-4007
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19.

20.

21.

‘Intraprencur’ word was coined by :

(A) R. Coantillon

(B) R.Owner

(C) Gifford Pinchot

(D) J. Schumpeter

MSME Development Act came into force

in:

(A) 2002

(B) 2003

(C) 2006

(D) 2008

Orders and notices in an organization

should ideally flow :

(A) From top to bottom

(B) From bottom to top

(C) Both (A) and (B)

(D) None of the above

Set-A



22. SEHE P 22. Entrepriseisan :

(A) 9 (A) Object
(B) fdd (B) Person

(C) @l (C) Process of action
(D) SWE ¥ | FIg el (D) None of the above

23, WMINI® gieadro S & fou Ta 23. Social attitude is one of the important

f 3 problem of a/an .............. entrepreneurs.
(A) HAfee (A) Women
(B) WU (B) Fabian
(C) $H (C) Drone
(D) Ueifteq (D) Adoptive

24, 9% Ffdd O Up AV JIdd bl g9 Tq 24.  An individual who initiates, creates and

ST A B YOI PRl B, BB manages a new business is called
as:

2

() FoP (A) Manager

(B) il (B) Leader

) ¢ (C) Entrepreneur

(D) i (D) Professional
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25. IR & ol awId B § 25.  Skills needed for entrepreneurship is :

(A) 93 DI (A) Soft skills

(B) YdEH Pl (B) Managerial skills
(C) M P (C) Entrepreneurial skills
(D) SWa &l (D) All of the above

26. Ud Jaarg o | A BT a11R0 ¢ 26. A business plan should include :

(A) TED! fqgeryor (A) Technical analysis
(B) Hdc fagersor (B) Market analysis
(€) i faversor (C) Financial Analysis
(D) SUgad FHI (D) Al of the above
27. ol R fer@mm daR  27. Speaking and writing involve which
B communication skill ?
(A) TR (A)  Encoding
(B) IR (B) Decoding
(C) Wiedd (C) Feedback
(D) oM (D) Knowledge

AG-4007 (10) Set-A



28. M IR | YdIE 2l & 28. Downward communication flows from :

(A) FENRT ¥ IRS B 3R (A) Subordinate to Superior
(B) 3NN F IR @ AR (B) Subordinate to Subordinate
(C) IR® F IRS @I IR (C) Superior to Superior
(D) RS A =T B 3R (D) Superior to Subordinate

29. JEH D P E 29.  Functions of entrepreneurs are :
(A) SIRFH IS (A) Risk taking
(B) o o (B) Decision-making
(C) mIfvTe RTHER (C) Social Responsibility
(D) Sugad FI (D) All of the above

30. v el ggul H Y fdER, I Al 30. ... entrepreneurs introduce new idea,
S P T e | product or method in the business.
(A) sAfeaT (A) Innovative
(B) BieT (B) Fabian
C) $N (C) Drone
(D) sHrcfed (D) Imitative
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31. TR QN H AT 2 31. Communication barriers include :

CNERILIEED (A) Social

(B) YERITd (B) Semantic

(C) i (C) Technical

(D) Sugad FHI (D) Al of the above

A B T e ep— & 32 A motivated worker does not need

T much .......... .

(A) T (A) Supervision

(B) Wicares (B) Enouragement

(C) W (C) Advice

(D) g (D) Suggestion

33. &W&Tsﬁ'\fs@qﬁm Bledd fiefar 8 : 33. Indirect and inferential feedback is

available in :
(A) T8 Aifsar | (A) Group media
(B) 9 Hifsar H (B) Mass media
(C) %= #ifswm 4 (C) Audio media
(D) <7 Aifear 4 (D) Visual media
34. TG gF | 34. The letter of acknowledgement ..........
(A) T RES (F1e0) Ye™ axal 8 (A) Provides a record
(B) RremR feEm 2 (B) Shows courtesy
(C) TdHEd A g9 § (C)  Avoids misunderstanding
(D) Sugad FI (D) All of the above
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35. PMMY &I Adad ¢ : 35. PMMY stands for :

(A) YOHAT H&T Ao (A) Pradhan Mantri Mudra Yojana
(B) TEFHAT Hl A (B) Pradhan Mantri Money Yojana
(C) VeI AT Ao (C) Pradhan Mantri Maitri Yojana
(D) SUYa H H Bl el (D) None of the above
36. 9EIfe Saffidr @ s@yRem - @ 36. The concept of social entrepreneurship
RIS WI came nearest :
(A) 1980 (A) 1980
(B) 1960 (B) 1960
(C) 1990 (C) 1990
(D) 2015 (D) 2015
37. SEMI W B 37.  Entrepreneurs are :
(A) FH TIRGH o Tl (A) Moderate risk taker
(B) = &1 TR o arel (B) Low risk taker
(©) T (A) 3R (B) (C) Both (A)and (B)
(D) Suga H A Bl 7Tl (D) None of the above
38. IR<fdd YR BT TR -7 & ? 38. Which is the phase of real
training ?
(A) a-ufemr (A) Retraining
(B) If¥neror (B) Training
(C) TR yferr (C) Post-training
(D) SUYa H A Bl 7l (D) None of the above
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39. JWAE & YNR H WM MRS HaR
g
(A) 8foeT Jar
(B) SERR HAR
©) faoft gar
(D) 3T ¥R
40. U ISR & :
(A) ARS FAR B
(B) dI&I WAR @I
(C) UlRdd FaR @
(D) STda # & Big AL
41. TUHd VP Ol Uh WGR gRT & IeM!
I AT Bl HR I forg far e
%, HEA ©

(A) 3FgaH
(B) Ramad

(C) ¥
(D) Suga H A Bl el

42. {B T M & UlhAT Feard g |

(A) ARG Hied
(B) AR
(C) HISferT

(D) TIHS STIelTd

AG-4007
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39.

40.

41.

42.

An informal communication involved in
the spread of rumor is :

(A) Horizontal communication

(B) Vertical communication

(C) Diagonal communication

(D) Grapevine communication

A memo is an example for :

(A) Internal communication
(B) External communication
(C) Lateral communication

(D) None of the above

A single lump sum which is given by
government to an entrepreneur to cover

the cost is known as :

(A) Subsidy
(B) Concession
(C) Bounties

(D) None of the above

.............. shows the process of creating

something new.

(A) Business model
(B) Innovation
(C) Modeling

(D) Creative flexibility

Set-A



43. qq'%nq‘cﬁ, IR & g Ared &1 Th IGEIL] 43. Communicator is the characteristic

element in the model of :

d@ g ?
(A) o= (A) Leagans
(B) g (B) Berlo
(C) amdd (C) Lasswell
(D) T (D) Rogers
44. AR FT SMCR HISd grr feor 44, SMCR model of communication was
—— given by :
(A) aal (A) Berlo
(B) ™ (B) Leagans
(©) (C) Rogers
(D) Suga H A Bl el (D) None of the above
45. I + DI + I + 45.  Knowledge + Skill + Traits + ..............
(A)  Hdar (A) Innovation
(B) Fr (B) Competency
(C) I (C) Skill
(D) @S (D) Creativity
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46. Sgu f=foRad d 9 o991 Wifew 98+ 46. Which of the following risk(s) is/are

e borne by the entrepreneurs ?
(A) R SiReH (A) Financial risk
(B) dfddd SNiRgH (B) Personal risk
(C) wHIdNE JiReH (C) Psychological risk
(D) Sugd Tl (D) Al of the above
47. FOR & NN e § A B 8 47. Leagan’s model of communication
contains :
(A) 4dd (A) 4 elements
(B) 5 dd (B) 5 elements
(C) 6dd (C) 6elements
(D) 7 dd (D) 7 elements

48. ggﬁ 61l fg&qﬁm R 9G] Bl gHTad 48. An effort to influence the attitude and

B BT AN DEAT © feelings of others is called :

(A) IT™/ JORYT (A) Persuasion
(B) d=d (B) Suggestion
(C) Mclle (C) Advice
(D) WRTRAT (D) Appreciation
49. ‘W’ g ®Wd g ! [ 49. Term °‘Entrepreneur’ was dervied from
e 3 French word “.............. ’
(A) TeWRUNT (A) Enterpurpose
(B) UcxyUIsH (B) Enterprise
(C) UcuriEgH (C) Enterproceduce
(D) TcuTs (D) Enterprendre

AG-4007 (16) Set-A



5O, SEH T @ AT 9T ol & 3N 50. e entrepreneurs neither introduce

a8 :13( RFY oo new changes nor adopt new methods.
CNEGERIG (A) Technical
(B) Wi (B) Fabian
(C) uRd (C) Induced
(D) BEIRL]] (D) Innovative
51. W3 & MUR W IR-AIRgH WaR @wearar 51.  Non-verbal communication based on
3. touch is called :
(A) FEARE (A) Kinesis
(B) wifHa (B) Cronimics
(C) efcaw (C) Haptics
(D) 3me @Eﬂ (D) Artifacts
52, RUIS &7 9 9 g | 52. oo is the main part of the report.
(A) Ty (A) Conclusion
(B) W (B) Recommendation
(C) UM (C) Description
(D) weH (D) References
53, ¥OR & WN ¢ : 53.  Levels of communication are :
(A)  INFRETT (A) Conventional
(B) 3IIYUH®D (B) Exploratory
(C) {e¥r (C) Participative
(D) Sugad FI (D) All of the above

AG-4007 (17) Set-A



54,

55.

56.

S7.

AG-4007

1 Adeld § fb AN omars H
o, form, <F, fra onfe &9 war
i e €|
(A)  RTeiTao
(B) YINIR® 9T
(C) 3N (A) 3R (B)

(D) SWH # W B &
IO e 8 Ud
(A) Hifsar e

(B) ¥

(©) w¥

(D) HrIH

U3 oG H UYa W B ATRU

(A) A
(B) fcH
(C) MU

(D) I

g1 WaR Wfshar Reried
Bl & |
(A) wfdfsar
(B) HIH

(C) WA
(D) o

(18)

55.

56.

57.

............... means how our voice stress,

pauses, tone, pitds etc. communicates.

(A) Paralanguage
(B) Body language
(C) Both (A) and (B)

(D) None of the above

Television is primarily a :
(A) Media mix

(B) Source

(C) Message

(D) Medium

Language used in letter writing should
be :

(A) Simple
(B) Difficult
(C) Confidential

(D) Ambiguous

Communication process is stabilized

(A) Feedback
(B) Channel
(C) Empathy

(D) Credibility

Set-A



58. §Gdh Pl BRIAR! b ADBIND Rbls Bl 58. The official record of the proceeding of a

+T ST & - meeting is called :
(A) faR-13 (A) Minutes
(B) e (B) Notice
(C) T (A) IR (B) (C) Both (A) and (B)
(D) SWE ¥ | TS el (D) None of the above

59. TP 3% WQ¥ & T YOI H iAo 59. The basic characters of a good message

- include :
(A)  FHIIO (A) Timeliness
(B) fafdrean (B) Specificity
(C) favawsraan (C) Credibility
(D) Sugad F4I (D) Al of the above
60. HIRgP TR B IR & : 60. Examples of oral communication are :
A) 1 (A) Letter
(B) A (B) E-mail
(C) TlBH (C) Telephone
(D) H (D) Fax

AG-4007 (19) Set-A



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRAdT H U® W & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd UG foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-heT ¥ ANT-gab, defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN BT Iroid 2 |

7 & Rl U9 Ul wUrRer § =TT 89 @l
T H U BT SN HUAROT & J= 2T |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o

2y
i3
E
oy,
a,
j
8
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